
Manticore



Welcome to Bells of Steel, you’ve made an excellent choice.

First off I want to say thank you for supporting my small business.

I spent over three years on the Manticore line and many long nights went into crafting an

unparalleled lifting experience for you.

I hope you love using it as much as I did designing it.

I’ve included a birds eye view on how to build a variety of Manticore racks, but I highly

encourage you to go to our YouTube channel and watch our assembly guide.

If at any time you need a hand, contact our experts and we will help walk you through. 





(1)

1

①

⑤

②

⑥

④ M12×100 bolt,nut,washer

×2
M10×90 bolt,nut,washer

×3

③ M16×110 bolt,nut,washer

×6
M10×50 bolt,nut,washer

×2

⑦

M10×25 bolt,nut,washer

×4

×1

M10×45 bolt,nut,washer

×2

M10×45 bolt,nut,washer

M10×20 bolt,washer

×4

⑧

gourd buckle

×5

⑨ ⑩ ⑪ ⑫

⑬

×2

×6

×2

×2

buffer washer 

pulley 

Φ24.8 pin

Φ8 safety latch

M16×120 bolt,nut,washer

×2

M24×120 bolt,nut,washer

×8

×1

M10×60 bolt

×1

∅10 pin

×2

Φ4.5 safety latch

×2

Φ15.8 pin

⑭ ⑮ ⑯

⑰ ⑱ ⑲

×2

⑳

④

⑩

⑪

⑭

⑭

∅12×75-∅14 anchor bolt



(2)

2

⑧

⑩

⑮



(3)

3

cable B

cable A

chain A (Section 19)

chain B (Section 11)

⑤

⑤

⑤

⑥

⑦

⑫

⑫⑫⑫ cable A

cable B

chain A

chain B

⑬ ⑬

⑬

⑬

⑬

⑫



(4)

4

①

⑨

⑨



(5)

5

①

①

①



(6)

6

⑯

⑯



(7)

7

⑰

⑰

⑳

⑳



(8)

8



(9)

9



(10)

10

③



(11)

11

②

③

③



(12)

12

⑱

⑱



(13)

13

⑲

⑲

⑳

⑳



(14)

14



(15)

15



(16)

16



(17)

17



(18)

18




